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Question: 1 
   
What does ISO 22313 provide? 
 
A. Guidance and recommendations to continue the delivery of products and services at an 
acceptable capacity during a business disruption. 
B. Specific requirements for the planning, establishment, implementation, and monitoring of the 
BCMS. 
C. Requirements for bodies providing audit and certification of BCMS. 
 

Answer: A     
 

 
 

Question: 2 
   
What benefit can an organization obtain from a BCMS, from a business perspective? 
 
A. Reducing direct and indirect costs of disruptions. 
B. Creating a competitive advantage. 
C. Providing confidence in the organization’s ability to succeed. 
 

Answer: B     
 

 
 

Question: 3 
   
Which of the following statements regarding the BCMS implementation project and operations 
is correct? 
 
A. Projects are focused on sustaining the organization, whereas operations focus on retaining or 
adding value or capability. 
B. Projects are ongoing, whereas operations are temporary. 
C. Projects are temporary, whereas operations are ongoing. 
 

Answer: C     
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Question: 4 
   
What should the organization avoid when implementing the BCMS? 
 
A. Involving external interested parties during the Plan stage of the BCMS implementation 
process. 
B. Upgrading the organization's technology when initiating the BCMS implementation. 
C. Targeting continual improvement at the beginning of the implementation. 
 

Answer: C     
 

 
 

Question: 5 
   
What is a disadvantage to appointing an employee of the organization as project manager for 
the implementation of the BCMS? 
 
A. Might require a trial-and-error approach. 
B. Might be seen as a threat by the employees. 
C. Might be limited to unforeseen circumstances. 
 

Answer: B     
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